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1. F%EJB;@S}@;!?X ~y~z> Var(x)=2 > Var(y)=4 > Var(z)=5 > p(x,y)=0.6 > =" x~y
Bz BVEEE - [ Cov(x,y) SEET I 2
(A)1.4; (B)L.5; (O)1.6 5 (D)1.7 ; (E)1.8 -
[#] (D)
p= cov(xy) = cov(Xy)=pxi/var(x)/var(y) = 0.6x~/2 x /4 =1.6971

var(X)/var(y)

2. & FRE - Var(0.4x+0.4y+0.2z2) BTN A E 2
(A)1.7 ; (B)1.8 5 (O)1.9 ; (D)2.0 ; (E)2.1 ¢
(] ()
var(ax + by + cz) =a’ var(x)+b* var(y)+c’ var(z)
+2abcov(x,y)+2bccov(y,z)+2accov(x,z)
Var (0.4x+0.4y +0.22) = 0.4” var(x) + 0.4° var(y) +0.2* var(z) + 2x 0.4 x 0.4 x cov(X, y)

=04*x2+04°x4+0.2"x5+2x04%x04x1.7
=1.7031

3.3 12 MO 6 i EIRIALTE ¥ 3 k- R B R 2
fﬁﬁu%ﬁ £ SEE: B[l il e
(A)O 60 ; (B)0.65 ; (C)0.70 ; (D)0.75 ; (E)0.80

(] E(A)
R CE

var(X )= n%—_

X
12 12 12-1
=0.6136
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4 FITTHTING 2 PG R I HR S PRV 2 SRR T
IR H 2
(A)0.05 ; (B)0.10 ; (C)0.15 ; (D)0.20 ; (E)0.25 -

(] Z(E)

1
RN ) —= = I
ST A=5x2=2.5 GRS D

2,25
p(x=2)= 2 25T 5ses
X! 2!

5. %\ X A T 2 E(X)=6 ~ Var(X)=3.6 » HIP(X =4) S5 57 H 2
(A)0.1059 : (B)0.1268 ; (C)0.1493 ; (D)0.1625 ; (E)0.1842 -
(] E(B)
RSP > E(X)=nxp > var(X)=nxpx(1-p)
nxp=6,nxpx(l-p)=3.6 = p=04,n=I5
P(X=4)=C;p*(1-p)" " =C;’x0.4*x0.6" =0.1268

S B PORE R £ 7 19510,000 - R 5,000 PUTTEI T  FIHETEL L -
6 % pE[S5,000 USRS T T H 2
(A)0.5 ; (B)0.68 ; (C)0.84 ; (D)0.95 ; (E)0.975 «

(] (C)
HifEIE - 4=10,000 ~ o'=5,000
,_X—#_5000-10,000
o 5,000

P(XZS,OOO):P(z2—1):1—%(1—68%):1—0.16:0.84
(M) FHP(-1<2<1)=68% 2k 20 FH R F = )

1 icl AR 0
7. WEFNF ”f&k}i a 0.95,df = 35)“~I/ I@?..b—
F & pet b feh i 4
nl o= 0.025 o= 0.05
n2 2 3 4 5 2 3 4 5
2 39.0000 39.1655 39.2484 39.2982 | 19.0000 19.1643 19.2468 19.2964
3 16.0441 154392 15.1010 14.8848 | 9.5521 92766  9.1172  9.0135
4 10.6491 99792  9.6045 93645 | 6.9443  6.5914 63882  6.2561
5 84336  7.7636  7.3879  7.1464| 5.7861  5.4095 5.1922  5.0503
6 7.2599  6.5988 62272 59876| 5.1433 47571 45337 4.3874
[#]
1
F =0.1109

@=0.95,df =(3.5) Fa:o,os,df:(i”

~9.0135

©2007 [t WS W Y 2/4



8F§z X +Y > XY Mot s 2 X a:3EfWFﬁFL fhu=2~0=4
FUHRES e o p b - B 55 10 > ] p IE@%E*‘HIH? ?
(A)0.10 ; (B)O0. 15 : (C)0.85 ; (D)0.90 : (E)0.94 -

7 Az BB A

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
1.0 0.8413  0.8438 0.8461  0.8485  0.8508  0.8531  0.8554 0.8577 0.8599  0.8621
1.1 0.8643  0.8665 0.8686  0.8708  0.8729 0.8749 0.8770 0.8790  0.8810  0.8830
1.2 0.8849  0.8869  0.8888  0.8907  0.8925( 0.8944  0.8962 0.8980  0.8997  0.9015
1.3 09032 09049  0.9066  0.9082  0.9099 09115 09131 09147 09162 09177
1.4 09192 09207 09222  0.9236  0.9251| 0.9265 09279 09292 09306 0.9319

L] 32(A)

zmﬁfﬁ&ﬁ}w’ Uy =1+2=3~ 0, =~N/3* +4° =5
o, 5

p=P(Z210)=P(z>1.4)=1-P(z<1.4)=1-0.9192 =0.0808

0. X ER 1% (4,2) 9 F 53 « (S 1-ar=95% » ¥ (FHREAR 3 :

(=]
F

2=0.025,df =(4,2)

=39.2484

1
Fl—%:0.975,df =(42) = = = 10.6491 =0.0939

2-0.025,df =(2,4)

CI={F <F<F

1-2=0.975,df =(4,2)

220.025.df =(4,2 )} ={0.0939 < F <39.2484}

10. - A0 64 N puREESEL A o gﬁﬁ*‘\*%‘ﬁ &Y [T (HvE - SR 15$22,000 0 AR
v F’b$4 000 - fI[J %] %‘ﬁu 99%|quﬁﬁ%’f1 EJIF HETEL F £, o

(]
s _ 4,000

"I Ve
4,000

S % .
€ =1y 005,063 Xﬁ =2.58x% Jo4 =1,290 (“MBcH Y00t =63 = Zg=0.005 = 228 )

n=64 > Xx=22,000 » s=$4,000 > 1-a2=99% = s;=

= {822,000 £ $1,290} = {820,710 < X < $23,290}
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(A)96 ; (B)99 ; (C)102 ; (D)105 ; (E)108 -

[#] 32(E)

£=$5>0=%820>1-2=99% = 7, . =258°
o 226*  2.58% x20? .
B4 n= P =106.5=107
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12. R HRIPORE (ERH o R BRI 2 (TR T S B I 2
(ATl = BYFFE L (OR 1% - (D)= F+1% 3 (BT 1E «
(2] (D)
= P A (n >0 ) F R -
limvar(d,)=0 = 01101~ Pt

nN—o0

13, 4 oo X, FRZAPVEY > S0 o fUHTEST I <1
Yo=(X ++ X,)/n s Yy =(X + X, + X+ X, )4
n>4 o Hleff(Y,.Y,) 5%

(=]

EHh
Xp+-+ X, O'2+"'+02 0'2
V(Y) =V (R ) = =T
2 2 2 2 2
V(YZ)ZV(X1+X2+4XH,1+X,]):0' +0 :20' +o :o;‘
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